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QUESTION NO: 1

Which one of the following options contains a benefit of the Java Generic Table Functions?

A. Java Generic Table Functions allow you to specify the output of a table function when you create it, rather than when you
reference it.

B. Java Generic Table Functions allow you to specify the output of a table function when you reference it, rather than when
you create it.

C. Java Generic Table Functions must run on a separate server, thus they don't consume DB2 resources.

D. Java Generic Table Functions can be implemented in any programming language.

ANSWER: B

QUESTION NO: 2

With respect to DB2 security, what is authorization?
A. Authorization is a process that checks whether you have sufficient privileges to perform the desired database operation.
B. Authorization is the process where the DBA gathers information to see who will have access to the database.

C. Authorization is the process where the DB2 database checks with Windows security to see if you have access to the DB2
database.

D. Authorization is a process that validates that you are who you claim to be by verifying your user ID and password.

ANSWER: A

QUESTION NO: 3

What is a buffer pool in DB2?

A. A buffer pool is an area of main memory that has been allocated by the database manager for the purpose of caching
table and index data as

it is read from the physical media.

B. A buffer pool is a DB2 component that manages connections to databases.

C. A buffer pool is a pool of connection buffers that increases performance of applications connecting to the DB2 server.

D. A buffer pool is a logical storage grouping composed of one or more containers.

ANSWER: A
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QUESTION NO: 4

Which one of the following statements is TRUE about DB2 Workload Management (WLM)?

A. DB2 Workload Management requires several application changes in order to make the application aware of the WLM
feature.

B. DB2 Workload Management guarantees the availability of data by replicating it to a stand-by server.
C. DB2 Workload Management can be used to schedule maintenance tasks such as BACKUPs, REORGs, or RUSTATS.

D. DB2 Workload Management allows you to assign resources to different workloads, which leads to a stable and
predictable execution environment.

ANSWER: D

QUESTION NO: 5

Which one of the following sentences does NOT describe a benefit of Temporal Tables?

A. Temporal tables increase business insight by letting analysts understand how the business was doing in the past, what
has changed in the present, what are the projections for the future.

B. Temporal tables lower costs by eliminating the complexity for businesses to develop their own temporal support
infrastructure, such as additional tables, triggers, and application logic.

C. Temporal tables allow better data management by letting the application control data integrity and uniqueness.

D. Temporal tables provide a quick and easy way to track and record data changes in the table.

ANSWER: C

DumpsArena - Pass Your Next Certification Exam Fast!


https://dumpsarena.com/

